[image: ]Längen umrechnen






1) a) 46,1 dm = 461 cm	b) 648 cm = 64,8 dm

[bookmark: _GoBack]2) a) 68 km = 68000 m	b) 10,7 dm = 107 cm

3) a) 11100 m = 11,1 km	b) 80500 m = 80,5 km

4) a) 324 m = 32400 cm 	b) 847 m = 84700 cm

5) a) 62700 mm = 627 dm	b) 41,8 km = 418000 dm

6) a) 67800 mm = 678 dm	b) 5,05 km = 50500 dm

7) a) 572000 cm = 5,72 km	b) 9,38 km = 938000 cm

8) a) 88500 mm = 88,5 m	b) 67500 mm = 67,5 m

9) a) 70300 cm = 0,703 km	b) 6620 mm = 6,62 m

10) a) 1,49 m + 29,4 dm + 418 cm = 861 cm 

11) a) 23,1 dm + 238 cm + 1,07 m = 5760 mm

12) a) 411 cm + 2,39 m + 22,2 dm = 87,2 dm 
© Maria Niehaves 2020
image1.png




